

ONE-PAGE REVIEW

§11.6 (Power Series)

§11.7 (Taylor Series)

MATH 1910 Recitation

November 22, 2016

- (1) An infinite series of the form $F(x) = \sum_{n=0}^{\infty} a_n(x-c)^n$ is called a ⁽¹⁾ and c is called the ⁽²⁾.
- (2) The ⁽³⁾ of $F(x) = \sum_{n=0}^{\infty} a_n(x-c)^n$ is a constant R such that $F(x)$ converges absolutely for $|x-c| < R$ and diverges for $|x-c| > R$. If $F(x)$ converges for all x , then $R = \text{}$ ⁽⁴⁾.
- (3) To determine R , use ⁽⁵⁾
- (4) $\sum_{n=0}^{\infty} x^n = \text{}$ ⁽⁶⁾, with $R = \text{}$ ⁽⁷⁾.
- (5) The powerseries $T(x) = \sum_{n=0}^{\infty} \frac{f^{(n)}(c)}{n!} (x-c)^n$ is called the ⁽⁸⁾ for $f(x)$. If $c = 0$, this is called a ⁽⁹⁾.
- (6) $1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots = \sum_{n=0}^{\infty} \frac{x^n}{n!} = \text{}$ ⁽¹⁰⁾
- (7) $(1+x)^a = 1 + \sum_{n=1}^{\infty} \binom{a}{n} x^n$ for $|x| < 1$, where $\binom{a}{n} = \text{}$ ⁽¹¹⁾

PRACTICE PROBLEMS

§11.6 (Power Series)

§11.7 (Taylor Series)

MATH 1910 Recitation

November 22, 2016

- (1) Show that all three of the following power series have the same radius of convergence, but different behavior at the endpoints.

(a)
$$\sum_{n=1}^{\infty} \frac{(x-5)^n}{9^n}$$

(b)
$$\sum_{n=1}^{\infty} \frac{(x-5)^n}{n9^n}$$

(c)
$$\sum_{n=1}^{\infty} \frac{(x-5)^n}{n^2 9^n}$$

- (2) Use the geometric series formula to expand the function $\frac{1}{1+3x}$ in a power series with center $c = 0$ and determine radius of convergence.
- (3) Write out the first four terms of the Taylor series $f(x)$ centered at $c = 3$ if $f(3) = 1$, $f'(3) = 2$, $f''(3) = 12$, $f'''(3) = 3$.
- (4) Find the Taylor series of the following functions and determine the radius of convergence.
- (a) $f(x) = \sin(2x)$, centered at $x = 0$.
- (b) $f(x) = e^{4x}$, centered at $x = 0$.
- (c) $f(x) = x^2 e^{x^2}$, centered at $x = 0$.
- (d) $f(x) = \frac{1}{3x-2}$, centered at $c = -1$.
- (e) $f(x) = (1+x)^{1/3}$, centered at $c = 0$.
- (f) $f(x) = \sqrt{x}$, centered at $c = 4$.